Which approach do the following statements link to?


	Statement
	Approach?

	1. Behaviour is caused by the way we think
	

	2. Children go through psychosexual stages of development
	

	3. Behaviour is shaped by its consequences
	

	4. Only observable behaviour should be studied, not people’s thoughts which are too subjective
	

	5. Some behaviours  may result from brain abnormalities or infection
	

	6. All behaviour is learned in the environment
	

	7. Abnormalities are the result of repressed unconscious conflicts
	

	8. Individuals have free will over their behaviour
	

	9. A person who is prevented from working towards self-actualisation is likely to suffer from mental problems
	

	10. The brain works like a computer in the way it processes information
	

	11. The approach explains why two people can be in the same situation, but not react in the same way
	

	12. Psychological disorders have a physical cause, and can therefore be treated with drug therapies
	

	13. This approach uses operant and classical conditioning to explain behaviour
	

	14. Each person should be viewed as a unique individual, and their subjective experience should be studied
	

	15. Behaviours are caused by our hormones or neurotransmitters
	

	16. If our thinking is faulty, then our behaviour will be too  
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